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The growth of tumours occurs in two distinct phases, an initial avascular st............... (= phase)
characterized by slow growth, during which nutrients and wastes are transported by diffusion, followed by a
vascularized phase in which the tumour growthsp........................ (# slows down, two words).

Large tumour implants, 4 mm in diameter, were implanted on the 9-day-old chick embryos. Changes in the
pattern, densityand le................. (= size) of the blood vessels werere................. (= registered) daily.

Questions

1-Give atitle to the text.

2- Fill in the gaps in the sentences according to the antonym (#), synonym (=) or the explanation. The first two
letters are given.

3-Write a question about the underlined words.

I1-Complete the following expressions:

Thearea of @ reCtangle ...

GOOD LUCK
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